Answer on Question #79090, Chemistry/ General Chemistry

Complete and Balance equation:
Ca(s)+Cl(g)>

CaO (s) + H20 ()=~

FeS (s) + O (g)>

CaO (s) +S02 (g)~>
Na2CO3 e H20 + heat—>
MgCO3 (s) + heat—>
Ba(HCO3)2 (s) + heat—>

Zn (s) + HCl (aq)~>
Ba(NO3)2 (s) + NaOH (aq)—>
Al (s)+ HCl (aq)>

Answer

1)

2)
3)

4)
5)
6)
7)

8)
9)

Ca(s) +2Cl(g)~> CaCly(s)

Usually other notation of chlorine is used: Ca (s) + Cl, (g)-> CaCl; (s)
Cao (s) + H,0 (I)=> Ca(OH)(s)

2FeS (s) + 70 (g)—> Fe,03(s) + 250,(g)

Usually other notation of oxygen is used: 4FeS (s) + 70, (g)> 2Fe,03(s) + 450,(g)
Cao (s) + SO, (g)—> CaS0s(s)

Na,CO3; @ H,0(s) + heat—> Na,COs(s) + H,0(g)

MgCOs (s) + heat—-> MgO(s)+CO,(g)

Ba(HCOs), (s) + heat— BaCOs(s)+ CO,(g) +H,0(g)

If more heat is added to Ba(HCOs), further decomposition takes place:
Ba(HCOs3), (s) + heat—> BaO(s)+ 2C0O,(g) +H,0(g)

Zn (s) +2 HCl (ag)—> ZnCly(aq) + Ha(g)

Ba(NO3)2 (s) +2 NaOH (aq)—> Ba(OH), (aq) + 2NaNOs(aq)

10) 2Al (s)+6 HCl (ag)> 2AICl3(aq) + 3H,(g)



